
SYSTEM OF PART NUMBERS

PART NUMBERS FOR FREE-STANDING ENCLOSURES

PART NUMBERS FOR WALL-MOUNTED ENCLOSURES

PART NUMBERS OF ACCESSORIES

R X X X X– – – –
IP PROTECTION
A – IP30
X – Without IP

NUMBER  
OF SECTIONS
S – one-sectioned
D – two-sectioned

COLOUR
B – RAL 9005
C – RAL 7035

LOGO
X – Without logo

MODEL
number indicating 
mod. or individual type

TYPE 
M – Delta
B – Delta B
U – Delta U

DOOR
A - Glass, left
B - Glass, right
C – Metal, left
D – Metal, right
X – Without Door
L –  Expanded metal,  

free area 60%, left
M –  Expanded metal,  

free area 60%, right

DEPTH  A  

2, 3, 4, 5
approximate depth  
in decimetres

LOCK
A – Lock

X – Without Lock

ENCLOSURE
A – 19“
C – 10“

R A X X– – –
COLOUR
B – RAL 9005
C – RAL 7035
X – Without Specification

ACCESSORIES
A – 19“
C – 10“
X – Without 19“

TYPE
combinations of numbers
is specific for each type

LOCK
A –  Lock 
X – Without lock

LETTER
Letter indicating type 
of accessory

MODEL
Character indicating 
modification  
or individual type

X

02

R X X X– – – –
IP PROTECTION
A – IP30
X – Without IP

WIDTH
6 – 600
8 – 800

COLOUR
B – RAL 9005
C – RAL 7035

LOGO
X – without logo

MODEL
1 – standard
5 –  Without side and back 

panels
6 – Without side panels
7 – Without back panel
8 –  Without right side 

panels (front view)
9 –  Without left side 

panel (front view)

TYPE 
M – Delta S
O – Octagon
Q – Delta Q
S – 19“ Frame
Z – Delta RZ

HEIGHT 
Height of enclosure
or frame in units

DEPTH
6 – 600
8 – 800
9 – 900
1 – 1000

LOCK
A –  Plastic handle
F – Half Cylindric Handle
P –  Half Cylindric Handle, 

without yale lock
X – Without lock

ENCLOSURE
A – 19“

–
BACK DOOR LOCK
A – Plastic handle
F –  Plastic handle  

Cylindric lock Triton
P –  Plastic handle  

Cylindric lock Triton 
without yale lock

X – Without lock

BACK DOOR
A – Glass, left
B – Glass, right
C – Metal, left
D – Metal, right
L –  Expanded metal, free area 60%, left
M –  Expanded metal, free area 60%,  

right

DOOR
A – Glass, left
B – Glass, right
C – Metal, left
D – Metal, right
L –  Expanded metal,  

free area 60%, left
M –  Expanded metal,  

free area 60%, right
X – Without Door

X X

The catalogue is for informative purposes only. 

All text or photos mistakes, eventually product modifications are reserved.

HEIGHT    

Height of enclosure
or frame in units

X



87

The stabilisor set for Free-standing cabinets

RAX-SS-X01-X1

SUPPLY INCLUDES
Screw M5 x 12 4x

483

19“ 1U, 2U, 3U or 4U Blanking panel

RAX-ZP-X0X-A1

BLANKING PANELS

SUPPLY INCLUDES
Screw M6x16  4x

Plastic washer 6,2 4x

Captive nut M6  4x

TYPE    A [mm]

RAX-ZP-X01-A1   44

RAX-ZP-X02-A1   88

RAX-ZP-X04-A1   133

RAX-ZP-X05-A1   177

CABLE ENTRY PANELS

19“ 1U Cable entry panel

RAX-ZP-X03-A1

SUPPLY INCLUDES
Screw M6x16  4x

Plastic washer 6,2  4x

Captive nut M6  4x
483


